
PH 312 1 0 7



108 PH 312



PH 312 109



1 1 0 PH 312



(4.7)

111PH 312



&fU  2mv,  b sin (O/2) = 4%
+ (n-8)/2

s
o -(n-8)/2

cos @d@

= 2 cos (O/2)
0

b = ( qQ  ) cot (8/2)
47~~  rnvi

c o t  (O/2) =  (%j$?i)  b

(4.8)

(4.9)

(4.10)

0 =  2arccot  [-(““:;‘:) b ] (4.11)
b
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= nta

= ntnb’

wwii  b ainaa.mi-3  (4.9) x%5

I .f = nnt  ( 4+.%2  ) * cot= (O/2) 1
II

(4.13)
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N(B) = w (4.16)

N,mt  (qQ/4mp@ cot*(8/2)  csc’  (O/2) d fJ
=

47-x’ sin (O/2) cos  (O/2) d 0
(4.17)
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N(B)  = Npt ZZe4
(8n~J*r* 7: sin4 (4.18)

ldfl  =  n n t ( 41;;v2)*cot$x2;d  6’
0  0

= nnt (A-)2i;COt+x~~d  B
4nt,mvi

= rrnt (&* i* cot2  ($)0 0

ldflka = m 4nkzv2  )’( 0 0

= nnt 2e2Z2(--- 1”4ne,m  vi

(1)

pN,  _ 19.32 T1%J/lW;’  x 6.02 x 10”  klt’GlW’b%.J~
n=  _ -

M 197  n%wh
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= 5.9x 10Z2 wxnJ/llaJ!

-!-
4nc,

= 8.98 x lo9  hk-U2/QROU9j2

1 zq’= [
8.98 x lo9 i%iWJ2/tJS3%J~'x79  x (1.602 x lo-l9 ~WJ;~

G; T, 8.8~ lo6 ikmaro~bbaaw’x  1.602~  lo-l9  qwkmaoerbaafi I’

[
8.98 x lo9 x79x 1.602 x lo-l9 bUBI~ ’=

8.8 x lo6 1

N(B)  =

b&l  Ni =  lo8 %d~“n  =  5.9x lo’* CWlmJ/%aJt  $mls;l”aERil.!  4 . 1  r  =  5  %ar.  t  =  2 x  10.’

md. kc 0 = 450 ukwin$aofhs  4.1

(a)’ = 1.69~1O-*~%IIxI?
01

i%&  N(B)  =
lo* 3u&5.9x  10”  ~mm~/m~~x2x  10-%81.x  1.69x lO-*4  %fU?

4x25 lf%.Lz sin4  (22”30’)

= 107 mJ;%nfl-'
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bd&Wl  dA  = 0 . 1  lr%Jt  6hk

N(B) dA  = 107 x0.1 %+  = 10.7 %I+’
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%il 4inmmi5  ( 4 . 1 9 ) 2Ze’rr  = -
47~”  T,

b$Q  1/47rt, = 8.987x  lo9  fia@k-aJ’/fpmJPi’  e  =  1.602x  10e9  QROd  T, =  7 . 6 7  x  IO6

kwmmbaafi  Lb61:  z =  7 9  k~~%yms,  z  =  1 3  ii~%qQaGuw

adz
@lsl-Apb  rc YQ.nlQ.!

2 x 8.987 x 10’  ?ia&-u*/F$oa+  x 79 x 1.60 x lo-l9 paod
=

7.68 x IO6 &FInmowbaaw”x  1.602x lo-l9  y~~LnnmaOu’6a~Pi

= 2.98x  lo-l4  U.

= 2.98 x lo-”  WJ.

rc VOSl@Lih.l  =
2 x8.987 x IO9 ikiklz/QAQBI¶?  x 13 x 1.602 x lo-l9 t$WkJsj

7.68 x lo6  &,rl,,,.6a,?ix  1.602 x 10-l’ Q”/&“iW”““ba&

= 0.49 x lo-l4  al.

=  0 . 4 9 x  lo-l2  mJ.
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(4.20)

E - KeZ  Ke2
2r r
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?-&I Ke*
r = -7%

b& K = 8.99 x IO9  Qa~~-(buas)*/(8”““~)’ e = 1.602 x lo-l9 FpNd  ttYlWilb45Wf1l~

h¶&-4

r =
-[8.99x IO9 ih-h-~.?/(~-$1""9j)~]  (1.602 x lo-l9 ‘v-$i”“?.$

2(- 13.58 eV)  (1.602~ lo-l9 $A/eV)

mv*  Ke*-=-
r

f=&[
(8.99 x lo9 %fbJ'/(f$=iCXJsj)*~  (1.602 x lo-l9 F$wJ~~)~

(9.108 x IO-" nn.) (0.53 x lo-*’ 81.)’
1
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e  =  2arccot  [(g) b ]

N(B)  =
N. nt K2Z2e4

4r2 1: sin4  (e/2)
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